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Topic:- General Hindi

1) HT @F YR & g T 3
1. @, Tofiyd &g 3R |
2. '@, ToTtyE deamed 3R |
3. &gy, Toftyd R 3R |
4, a@fy, v 3R fafesan |
Correct Answer :-

. ety iy o &R R
2) 3&RT PP BT USRI Hel d gl 82
1. IR

2. 3R

3. Yiard

4, HIeUt

Correct Answer :-

3) FraPTe’ RUIN eg fr aafda F A A a1 82
1. HP SrIBTC
2. SIFR dIgPHIC
3. T[GIG dADIC

4. AR SIgHhIe
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Correct Answer :-

. HUT P

5) ORI STPR BT IGTETT &:
1. 3{%R UT9C H Gall g1 dRTIT I AR |
2. g w = g fag &
3. U RIS oY o ,dTe] DI T
Yl Yell Big BIFST,EIe I8 S1U ||
4. Afe WRIT Afe AR AY e fdr 3 Hra|
31t et €Y It faedt oY i gara | |

Correct Answer :-
. g WRAT g AYR 7Y g [dh1y 3fg S|
3fcht FHait &1 4 faedt Sl S gard ||

6) “3UT BT faa reg FATST

1. JU&f

2. IHIG

3. 3R

4. 3UAY

Correct Answer :-

. JUe

7) ‘HP HD d T I, HTgdhdr e |
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T Q@TT SR ST, a7 1Y IR
SWRIG Y § B T EPR 82
1. JAH

2. Sffcrrifad

3. 9dg

L

Correct Answer :-

8) 3R 3R I=d) IR A WER Ut SR Su A M wsH I 7>
IWRIad I T T GETax BT YA He |

1. YT fh e ac dadl

2. g1t forg Hvae S&dr

3. Fafgan forg wave sadt

4. %c [P oRac 9&ar

Correct Answer :-

. 3¢ frg Fxac §&al
9) T8 ¥ T ¥ BT IGTG0I S A 3:
1. T Xfgd UTaY g 849 U od o | e |
2. IR qH ¢ Tql, 4R qH a¢ al |

- UgTs gl fob Rig 1 <gTs gl

JH B! B! T, TH P Fept e 1|
3. AR O Hd TR 96 JHYAM,

1S T U e, 9er 4R SHrely |

HeT WR ST, YT H HRT T,

- Raw® g 3 IR A
4. O faHd e Aafg I

=Y g §g d @ |

Ife fadTY 3 USRI |

Uik Yty daf IRfE a1
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7

Correct Answer :-
. TR HE R §S UAYAT,
7ol firel U fie, geT R S|
HeT R TATY, I & HRT T,
fR-¢fR faTes g & TR 4|

GET IT ON
Google Play

10) Y9 ¥ 34U &

1. QIR Y9 faUTa, U, TR UTd
2. Tt UG, fauTe, S U, FaR) Hid
3. Rt YTG, faUTT, 3HTd, SR Hia
4. ST TG, faHTd, 3IHTT, FaRT HId
Correct Answer :-

« Y UG, faUTa, ST, et YTd

11) 3fTee- fauma:

1. o IHT TERT A1 3HTee 7 UrehR TR HId SN 81T 8, 39 3fdad faurd Hgd g |

2. T GeRT a1 3fTdie Ure R HId Yl gidT 3, I SHTeia faHTd Fed 3

3. o1 BRI a1 3Tcie UTe) R} Hid SId 21T €, I8 I furd gd B
4, TOrIohT UERT AT TS T VI HTd S il 8, 34 3Mcia [aHTd Hgd ¢ |
Correct Answer :-

« FTIeT WeRT A1 SHTea Urehr RITH U1 SN 81T &, 39 3fda fqHTd Had ¢ |

12) S5 &1 grd:

1. 3QR[dC

2. THARY

3. AAd
4. Wad

Correct Answer :-

13) ¥H BT 9N ddI¢:
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«T X I BTG T el |

ANt g famty s {51 o, TRa % wan g4I 1«
1. AT X

2. A

3. 3G W

4, HYdh Y

Correct Answer :-
. XA
14) U & VT &§:
1. TG T, Tra e JA, fgareff aumg
2. FHYRY THMN, 57 G0N, TgwY IHN
3. HHYRY TN, T S1ed JAN, TGy TH™
4, TS S1YS qa, fgsrdf o, Igsiifes v

Correct Answer :-
15) g IR T FHT3AL &:
1. Y 3R Srafeied
2. 9CT 3R 9
3. HH 3R YD
4. AR 3R Fae

Correct Answer :-

. AR 3R FHay

Correct Answer :-
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17) T&YUr & 0T B

1. (YT, T&dT, HTST BT aRera
2. 3(qUIdT, Tf&rear, UTT &1 TRadr
3. 3qUTdT, faRdR, TS &1 TRadT
4, quidT, Sf&dr, 4T &1 TReran

Correct Answer :-

. Ui, Sf&redr, 4T &1 wReran

18) Tod I1 Hfddl &1 A Y 3

1. HIATHD a1 T Hid DI Hid, ST Sl b y@ansii & fafad aieh S g1
2. HTHTED I 1 Hid B Picl, S g1l § fafdrad afold ot et g

3. HIATHS X1 1 TGP B Pidl, o Sl Bt gaarsi § fafdad sieh I g
4, TRITAS X911 1 TGS 1 i, ol Sl b gaarsit § fafdad sieh St g1

Correct Answer :-

. HTATHS 1 A1 Hd B Picl, S Sal DI Yaansii & fafdaq il ot 31

19) 3rq<fi-srafr o7 31 B:
1. 3aeft HToT - qHY AT

2. 3y T T aTelT 3R forgpT 9 T 8l

3. 3{9Y H g aTal 3R Jee
4. 3y 7 Ig AT 3R THY AT

Correct Answer :-

o Sfadlt YT - FHY AT

20) ‘FAlgRD frd e FT AT a2

1. I, A1, geords iR s &3 § e B
2. HSTT, TIRIGT, geares ok s asff # disfia g |
3. Hedll, ATdT, FRWUS 3R 1S &85 § Ao g
4. HSaT, AT, geads 3R s & aefa g |
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Correct Answer :-

. TSI, ATedT, Jeads 3R Frs & § At |
21) <3rgT oy T |2

1. GINTd &1 A |

2. @ HTAM|

3. AR UF HT A1 |
4, AR BT A

Correct Answer :-

« OE®I &AM

22) § YT q I T3 &
1. UgTel

2. URTIG

3.Uga

4. Ulgls

Correct Answer :-

23) TYT ATAN-TTA 3 1° BT Frey a1y B
1. T TR g3 T =Trereh 2

2. ATl g3 T T AR B

3. YT AT PR A E |

4. S AT B, TG A R

Correct Answer :-

o S TR €, 98 T R

24) f3q 79 <iar aferd s1f Mee ifoR 71
A AFYDT T I I [ FRR A1

39 Ugad B¢ $T A qa1d|

RIIREIGEA
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2. RAB<|

3. gififae o<
4. AT B

Correct Answer :-

. JAT BTG

25) ‘TP T, G NS 3R TH IH) A A TR IR 31’ 39 919 &1 Y& =7 ford |
1. T T 3R &) 91 SR U gl HeH d TR Q&

2. T T, &1 91ST 3R T g6 HaH H TR @ 5|

3. U T, &) O1S 3R Ud S HgH B R I@ 6

4, T T, 31 OIS 3R U <) HaH H IR IW & |

Correct Answer :-

. TP Y, 39S 3R T g3} AgH H IR T R

26) 3BT YIRS TTeg BT 31 3:

1. WHR J G b TR gRT 9 Pt S aTedl AT DB Hgardit|
2. WNHR Y I foddt afad gRT I B S arelt AR B Hgardt|
3. RBR Y F Tl TR GRT IYA B! ST aTent MR “SHRABY Hgadii |

4, Tt oafa S1Uar AR DT <31 TR IRBR b IS (AU §RT 9 fbT S dred “dHR o ferw
RIS VG YT ot SITetl 3|

Correct Answer :-

« e e Sruar TR HT 3T TR IRBR & o1 (YT §RT ad fHT I ared “HR o fere
‘3P’ VG TRANT b1 ST 3 |

27) A YT SIS TR 5 JoTa¥ F1 34 §:
1. 3B A G BN

2. 3SR D] b THH]

3. 9gd Uil gl

4. 9gd HETM g

Correct Answer :-

. IS D! b FHF
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28) AH MY Sge WeH g R Iga ARTgu M 8, @ eI Fed e ®IP
IWRIGd a1 H T GETax BT YA Be |

1. 3G & i, A TagE

2. SO U 3UAT I

3. 3 & 3T [ofordl & g

4. 3R TR e AT

Correct Answer :-

. 3H & 3H [Bferdl & &

29) HdHS’ BT AHIRIS fAUE ?:
1. IS g ol

2. T T BT HER

3. fogR & alg

4. 9 TH B S

Correct Answer :-
. 9T 9l $HT GHARR
30) ‘o] W BT BT A B:
1. GRIHG B
2. I UTEHT
3. Il AT

4. (AT HTH MBI

Correct Answer :-

o 30T HTH BT

31) <3SAY T DI AT AN 82
1. TGSY FHH

2. FHYRY GHNY

3. 48 99N

4, fgy oy

Correct Answer :-
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32) ‘GH IR g BT 3A &:
1. U3 3R St

2. U8 3R US

3. UG SR T

4. S 3R URTS

Correct Answer :-

33) <3P 3R AP P 34d 2:
1. $d aH 3R iR

2. T & 3R AHd
3. 3IHA 3R AHd

4. IIHA 3R Fa T 37T g3

Correct Answer :-

. $d S 3R AFHA

34) <3[eP U A I WS &
1. 37T

2. PR

3. 3RIGUI
4. 3fdidpd

Correct Answer :-

35) B M Pt HAT P IGT§ I” T a1 &1 S &4 [ |
1. BT R I@TE|

2. T T BT 31T PR IETE

3. M S R IR W E

4. ¥ PRI P IWEI
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Correct Answer :-
. HH BT A PR ITWTE |
36) X UGI-ferar 3R SHfUFTRY 91 BT ¥R a1 B:
1. YIS A UG 3T SHTYHRY &1
2. YIS 1 UGTS ! a9 I8 YR &1
3. IR Ug-fergahr SHfUHRY &1
4. IR ggI-feran ity a1

Correct Answer :-

« I g-feraa DR &1

37) it W1 P D! AW B I’ T I P Y& FU ford |
1. ft FUT BT UH TH B |

2. ft Ol & 3P T

3. f FUT & 3AF A B

4. N FOUTF 3D A G|

Correct Answer :-

. N PO P 3B AT G|

38) MR’ FT fAdi¥ U3 8:
1. 3FEAR

2. 3R

3. Sfgdr

4. fqaR

Correct Answer :-

39) ‘gTed fiRd g1 HIR AR @ &1 YYad 919 o
1. TG foR 3R AR A &
2. ToR S1ed, AR A=A @

3. 9§ dIGd feR 9§ AR A=A &
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4. AR 9T T dTed ford &

Correct Answer :-

. ged foR 3R AR A/

40) S ISP D BId &, 3 IRy B &1’ 39 a1 ) TR a1 A gl |
1. 1 TSP BId &, 3 IR A §

2. IR 81 € S s o B B

3. 3w TS URyH g €

4, 3 ASH BId 6, d TR A B

Correct Answer :-

. 3 TS uRyr B B

41) Hifgar fawsh @1 B B A SR 2
1. YOI e USRI

2. HIOTd — IR U

3. il Aey v

4. AR Y

Correct Answer :-

o HIoTer A U=

42) TRATI! TG AHSG A AR W {54 &7 7 o fora wraw & 7 siman 82
1. HATS &3 H A & AW & SR ST SRl ATHE T STHAR UR 747 STl 8 |
2, HraTaT &5 B T & T & SR “SRETH SR 8 T SR UR T STl 3 |

3. Tl &3 B AHYH & AT & SR ‘SR aRdD ATHE TMa SHAR U TR ST g |
4, TTEraT & H THf & TR & SR ‘SR SRar "1He A STHAR O 7 STd g |

Correct Answer :-

. ATEAT & H A & HIH & SR ST SRl A1 M SR TR 17 STl g |
43) 9 I gRUTT 8:

1. BT B ST TG J o e BT 3ufd 81t 8, SW W Fgd B

2. T B Ug a1 J F o 311 BT 3rgyfa St 8, SU W Fgad 8|
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3. TR 1 UgH a1 G- ¥ o1 311 &t 3ryfd 8l 8, IU W Hgd 5|
4. 7T 1 a7 1 ferem 9 1 31ig @t 3rgyfa St 8, I W ped B

Correct Answer :-

. BT B U TG ¥ o 31ie &t 3ryfa 81 8, 39 W Fgd 8

44) 9d AR g BT AL §:
1. IS SR BT

2. Yar 3R =Y

3. Tl SR U™

4, IUAN 3R W

Correct Answer :-

. JUTN 3R U

45) 39 UL P 49 A Ue 3T - few e umq #1 IwR &

o IR g fora 8 o &1 SR St 3t
SN Pl & T4 WR AT, Tl BT SUSR SUI DI |
TI-5IBR 5P AR AP, o 3 § afer g
3T ST UR YRBTAT, SR & HT wR AT

o wg Wi foran 7, Widpe 3 iR ¥ #11

UY: 39 Hfadl &1 Iugad Mye e
1. QBT

2. dic

3. S DI Hell

4. AR

Correct Answer :-

. O & Har

46) 39 UL P 49 A U¢ 3T 1 few T ymq #13IwR &
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forra w3 Wi feran 3 oA &1 siftreR St 3t |
St Biel F UY W AT, Hall BT SUSR S B |
TI-FIABR 5P AR AP, o i@ g afer g |
3t FisT W GRBTHT, 3R & HTY R AT |

o = A foran &, e @ g St &7 |

TY: WPhe TITR B a7 AT 82

1. BV A §Id-89d A8 P! Al YR A~ TR Ybe 99 oTd g |

2. HFI B FAd-IAd g B! Bl Uig - IR Aahe ff AR §9 91 ¢ |
3. HF B §UA-5Ud T8 B Hal YNG A R Tabe i ABR & 31 B
4, B DI gUd-Ud UG B! Hell WA T IR ARR Ht Fave 9+ 91d ¢ |

Correct Answer :-

« BHF DI TIA-2Td g1 Bl Sl TG a1 R dobe I AR ST o 2|

47) 39 U ) A A U 3R 2 fRT T gz &1 I« 3

o™ 1= e o 8 < &1 SiftreR St 3t
S Plel & UY W AT, Tl T TSR SUI Bl |
TI-FIABR 5P AR AP, o i g afer g
3 fST UR YRBTHT 3R & HFY wR AT

R wge Wi forn @ ,¥e @ dleR St 311

TY: 39 HIAdT A Pie 3N T frash Udi® 82
1. Plc Ybel & 3R Fd ST & Ui g

2. BIe Tobel &b 3R Bl J&i & Udls B

3. BIE JUER & 3R P 11 P U1 2

4. BT GOl & 3R B Yepel & Ui 2|
Correct Answer :-

. BIC Thel &b 3R Bd Y&l & Ui g

48) 3H U &I M | U¢ 3R 9 R My H13wR &:
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oM 1= g o 8 iR &1 SiftreR St 3t
S Plel & UY W AT, Tl T TSR S B! |
TO-ETPR 3P Wt ABY, o Wi @ sfer g |
3T FsT W GRBTHT, SR F HTY R AT |
o= e Iia for 8, e @ igR S &1 |

uY: i &1 PR frd 82

1. TRA BT SMABRIY AT I SN |
2. T FHT IRFR IV A FH AT
3. R FHTHRFR IV A AT ISR |
4. S BT HRFR IV A ATIAS |

Correct Answer :-

. T PTAHNPRITET N ATITSY |

49) 3T UL ) A | U 3R i few 1 yxA &1 IwR S

foRT= =T i feran 8 iR &1 st R St 3t
S Plel & UY W AT, Bl T TSR S B! |
TI-EqPT 3P W Ay, o= @ @ afer g |
ST ST W GBI, SR F ST R AT |
o= e Iia o 8, Wdhe @ igR S &1 |

UY: 39 HIadT A ATy T J7or freft 82

1. 59 IAdT H &H d — §Ud B HY DI Te BI URUN fHyerdll & |
2. 39 Hfadl # §H 59d — gud Si o1 URon fireft 31

3. 39 B H 89 Ad 3V B HY P Fg I UR0N el B

4. 3Y HIIa1 H gH X B I ¥g B IR0 firedl 5|

Correct Answer :-

- 3U DAY §H B - B 8 DY Bl g 1 IRM ferell B
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T T 1 19 9§ U SR A fRu M Yz 13wk <

afgarsi @1 Agdt YfAeT & are o it o A a1 un<FReoai & fteRT & vy w), § feht

UPR BT THSNAT 1 & ¢ IR A8 § 1 98 a1 3791 o1 R iR 81 ) 3 o 31 fanselt
THR BT Rgfaer T8 gt e Wit 'R o1 Tfir 81 139 ) Faran 8, 98 S Iad) diedl
3R fEETe 81 R 1 TERE1a iR T ST Ure Sl 3§ | I AP 3, AfS I8 &M T HY al
GINEIECAE G A R

L T IR DI UG § g wet M qerge?
1. S=d| BT UT UTerdl HIdl

2. DI

3. TITER SR i gl

4. %l

Correct Answer :-

51) S99 7€ ! M 4 U¢ 3R < 3T 7T =9 #1 3wk <

Afgarsil @ wedt yffeT & IR A it Sft A BT Rl & ity & vy wR, A fonedt

UPR BT UG H & T R 81 §1 98 @t 371 o0 g Siftre 81 38 7o ° 3= fapeht
UPR P! SRIFAUT A1 g1 TR Tt TR $Y WAL 3 1 T3 At FHTGT 8, T8 SQ P! dicdt
3R fEeT 8 1 IR &1 IERWIT 3R T BT UTer Bl ¢ | 98 JAPATAT ¢, G Ig @M A HY Al
I "ra Sfe 9% g \re

U 399 TS D1 UghR 9a1s U 1o Tl oft o a1a & forg gasitan 7Y o= argd?
1. e St goet & SYSRT & Uy IR fodlt YR &1 JHSIT Ta] BT argd |
2. TiTef} off Rt & srRgfaen & Uy WR fordt R &1 gHgiar el BT argd |
3. Tiet Sff el & SR & Uy R ot UeR &1 THial 7! BT e |
4, TR STt It & SIRIBRI & Uy WR el TR &1 qHeiidl g1 S a1gd |

Correct Answer :-

. TTeS S et & SfIBRI & Uy W it YR T JHSGT 781 BT I8 d |

52) 3 7€ ®! M | TS 3R 1 o e yxA #13wR &:
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wfgenai Ht ggdt yffeT & IR 7 el ot A H7 31l & SifUreRT & gy i), 7 foedt

UPR BT IHSNAT 1 & ¢ IR A8 § 1 98 a1 371 o R iR 21 ) 3 # 3% ot
UPR B GFALT T g A1fee| Tt 'R Ft Wrfeet 81 3w A} HHTan 8, 98 3§ Ja! giedt
IR fEard 31 TR 31 I@RETE 3R T BT UTeH $<l ¢ | I8 AYATAT &, AfS 98 &1 T P al
I 91 wfer 7 g S e

WRA: 9 TR B Ugdh qarsy f mieh ot A Tt ot garmn frad #1 82
1, GITATA
2. AT
3. ST

4, HRJHTCT

Correct Answer :-

53) 3 T P! A I U 3R 1 2T T8 u== #1713 &

Afgamail ot At e & IR A i St A e U<l & oftreri &y w, A forht

UPR BT UG H & T IR 81 §1 98 @t 3711 o0 g SiftreR 81 98 v & 38 fapeht
UPR P! SRIFAUT A8 g1 TR | Tt TR P WAL 81 T3 At FHTT 8, T8 SU ! dicdt
3R R 31 TR o1 IERE1a 3R T $T U= Bl 3 | I APATT 3, AfS I8 &M T Y al
I |14 Sifa T 8 S e

UT: 39 T ) UgP 9a1sC fob ish off fpd ergfaen =817 & aR # a1d 4 @2
1. gl

2. et

3. et

4. &Y

Correct Answer :-

54) YTYT &1 IRYTT &:
1. YT 98 1eH 8, fords gRT A Rith Ug@hx 319 T & HTa 31 faaR| &1 SMeH-UeH &Rl

2. HTYT 98 W1eH B, e gRT AT Siade, Yo, feRge d g 30 T & HId! a1 faaRl &
3MEH-UGH HAT 3 |
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3. Y91 98 e B, ford gR1 IS diddx, AR, [eRgeR 9 UgdhR 30+ 7 & H1al a1 fdaR] &1
3EH- Y& T8l a3 |

4. VTS 98 T4 &, o gRT A Rt Siae, 3109 T & Hidl a1 faaR] &1 31eH- UaH &Rl

Correct Answer :-

« YT 98 W1EF B, oI gRT A7 Sidax, JADR, fergax d Ugax 30+ T & YTa! a1 fqaR] &

3TEM-YeH Hdl gl

55) UTHT & A1 U 8Id &

1. T YW1, faIfad Yo, Ticsfaes ||
2. ifaes uTe, ferfad Te, e wTo |

3. TRae T, e umon, widsfae ||
4, RIS TSI, 96T TN, Fidsfadh HTHT|

Correct Answer :-

. AiRge o, forfaa yTen, Fidsfaes v
56) «“dRT” BT 3 3:

1. &5, qeiell

2. F&F, gaail

3. 1&, Uiait

4, F&=, Ydd

Correct Answer :-

« F1&3, gaait

57) «RR IR IR> 131 B:
1. T AT 3R I
2. BUR & T 3R WrsT

3. §gd QR 3R TSl

4, 95 TG 31R BTl

Correct Answer :-

. ST Y 3R 9%
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1. 3T

2. ER
3. 3T

4, 3{dd

Correct Answer :-

59) “Hgd gU Ul IR & A7 oA F W MUY
&9 & wuil A ot A= 81 1T Y AU«
TN P AT &2

1. ifder

2. I

3. gt

4. e

Correct Answer :-

60) “3rsat T 31 B:
1. BT 3R ST

2. HAA 3R yfafad
3. HAA SR A5l

4. Uc BT AT 3R AgHT

Correct Answer :-

. HIA R IEH

61) “3JUH” BT YGTAGTHI:
1. 3ad

2. 3

3. I

4, 3

Correct Answer :-
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62) 9 XA I P YT a1 | g4
i & ST T G &l T[T

1. YA ¥ Ugd &I W I 81 4T

2. g g3 3R Ve T &) 7T

3. gafed g3 3R W GHT g3 |

4. Qg ¥ Ugd g1 9d Bl 3fd g1 Tl

Correct Answer :-

. U G SIR W FHI 1 71|

63) Ueaad R WG i ® Iy fearwmar gl
1. &M

2. ST

3. gAY

4, YT

Correct Answer :-

64) H e e ot et e wE fa=iven &1 fosror g9 & sRon siftres fafdern iR
o = gram

1. Jadd BT
2. We HhIY
3.3arde

4, UdY BT

Correct Answer :-

. S B

65) 39 Al A T IW qTal:
RCAGED

2. Sifdd
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3. Ufg®
4. 3w

Correct Answer :-

66) HETHTA:

1. BT AAS DI A4, ST 1 HRIGR 401 WU= 99 g1 AT |

2, S AR IS TS Hs qadl, IaT A1 $RIG 7o Fudt & g anfeul
3. Fifeg 3R ST Tes H1E Uy, TR a1 R &g g =nfeu|

4. TG 3R IGHT IS Py Gadl, ol AT fRIer 407 Juet &g g a1l

Correct Answer :-

. Tifag 3R IS A0S Dl Sadl, el a1 RIS 07 Jud &fa g1 =il

67) Yewiad & fawg &1 fan tmar g1
1. 3aTE

2. Tigreitepor

3. faER

4, THT[

Correct Answer :-

68) HIGHTYT HEaTd! B:

1. I8 HTVT Ford ST 30 TSI ¥ S{UTal 9 el & |
2. I U9 Forl ST 30 GRAR F SU-1a1 d WA g |
3. 98 YT ford STcTeh 310 HPzIe” § SUHTdT d Wadi g |

4. I8 TS Ford STETeh 31U THd I 3Ol d WA 5 |

Correct Answer :-

« I8 TN O STefep 309 URER & (T g daar 2|

69) ‘UHRAGIAAT I P TETHIABI°
IWRIed a1 T gt GaTax BT YA H1 |
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1. ST, B AT

2. T YR} TAAR oY

3. &dl gBM, Bid UhdH &I dia
4, TRl TR W W R

Correct Answer :-

. IR IR W TG IR

70) 39 T &I A A U 3R 1 RE M U $13=R &

afgensit @1 agdt YfAer F IR & Mh S F w1 S & fieRt F Uy w, ¥
UPR T HHSNAT B & T R 781 §1 98 @ 3971 o0 R iR 81 ¥t v o 3% fosit
UPR B rgfaer 781 g1 Tfge| Wit = 3 T 81 gow A& Furar 8, 98 39 @) gicd
3R ATt 31 TR &1 IWR@T R T FT U F< §1 I8 YA ¢, A 98 &M T B @Y
I A4 Sifd T8 g S e

UL 59 TR P UgH? JaTs¥ f o) $t Wit S 22
1. TR P! W 3%l g

2. TR D! WA Wi g

3. TR B WIEH A ST g |

4. TR P W BB

Correct Answer :-

. TR B @ B

Topic:- General English

1) Choose the appropriate preposition for the given sentence:
We can offer a discount _____ special items.

1. for

2. from

3.1in

4. on

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

2) Choose the appropriate preposition for the given sentence:

The students were happy when the school agreed to sanction the use of calculators ___ math classes.
1. at

2. for

3. with

4. in

Correct Answer :-

3) Choose the appropriate preposition for the given sentence:

The trend is to retire _______ thirty years of service.

1. with

2. without

3.in

4. after

Correct Answer :-

o after

4) Choose the appropriate prepositions for the given sentence:

The instructions were French. | translated it English.

1. through, to
2. into, in
3. for, for

4. in, into

Correct Answer :-

5) Choose the appropriate articles for the given sentence:

housing facility provided by university includes some basic dormitory accommodation.

1. An, an
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2.A a
3. The, a

4. The, the

Correct Answer :-

e The, the

6) Choose the appropriate articles for the given sentence:

first point to note is that donations under Section 80G are treated as deduction from
your gross total income.

1.Aa
2. A, an
3. The, a

4, The, the

Correct Answer :-

7) Choose the correct form of verb for the given sentence:

When | went to interview the film star, he told me that he couldonly __ me a few minutes.
1. lend

2. spare

3. hear

4. spend

Correct Answer :-
e spare

8) Choose the correct form of verb for the given sentence:
One of the trees has been down.

1. fell
2. cutting
3. cutted

4. cut
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Correct Answer :-

e cut

9) Choose the correct form of adverb for the given sentence:

As the car caught fire, he jumped out
1. unknowingly

2. with fear

3. immediately

4. similarly

Correct Answer :-
* immediately

10) Choose the correct form of adverb for the given sentence:

When students register ______ for classes, they must pay an additional fee.
1. quickly

2. lately

3. slowly

4, late

Correct Answer :-

11) Choose the correct form of adverb for the given sentence:

Though hewas ___ disguised, he was captured by the police.
1. conspicuously

2. smartly

3. carefully

4, neatly

Correct Answer :-

o carefully
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12) Choose the correct form of adjective for the given sentence:

Anita is full of life and energy. She is very
1. brilliant

2. cheerful

3. lively

4. interesting

Correct Answer :-

13) Choose the correct form of adjective for the given sentence:

The noise from the discowasso_______ that | had a severe headache.
1. tolerable
2. tolerating
3. intolerant

4. intolerable

Correct Answer :-
e intolerable

14) Choose the correct form of expression to complete the sentence:

The worker receiveda___ when he was injured at work.
1. compendium

2. contribution

3. refund

4. compensation

Correct Answer :-

e compensation

15) Choose the correct form of expression to complete the sentence:

In order to give up smoking, you need to exercise great

1. will power
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2. abstinence
3. effort

4. endeavor

Correct Answer :-
o will power

16) Choose the correct form of modal auxiliary verb for the given sentence:

She asked the driverif he _______ kindly stop the bus.
1. shall

2. would

3. should

4, will

Correct Answer :-

* would

17) Choose the correct form of tense for the given sentence:
Although he _____ hard for over five years, he hasn't got a degree yet.
1. has been studying

2. will study

3. studies

4, is studying

Correct Answer :-

e has been studying

18) Choose the correct form of tense for the given sentence:

Our English teacher all the books last Friday.
1. has corrected
2. will correct

3. corrected


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

4. had corrected

Correct Answer :-
e corrected

19) Choose the correct form of tense for the given sentence:

I___ youknow the result as soon as it is announced.
1. have let

2. will let

3. had let

4. was letting

Correct Answer :-
o will let

20) Choose the correct form of tense for the given sentence:

Does your brother _____ English?
1. spoken

2. speaking

3. speaks

4. speak

Correct Answer :-

21) Choose the appropriate articles for the given sentence:
Board Meeting was chaired by CEO in the absence of the Chairman, who was on
vacation.
1. An, the
2.A a
3. A, the

4. The, the
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Correct Answer :-
e The, the

22) Choose the appropriate articles for the given sentence:

brief report on two-day workshop on Marketing and Sales held in May has been
enclosed.

1.Aa
2. The, an
3. The, the

4. A, the

Correct Answer :-

23) Choose the most suitable determiner for the given sentence:
Therewas ______ food to feed an army.

1. most

2. more

3. much

4. enough

Correct Answer :-

e enough

24) Choose the most suitable determiner for the given sentence:
Isthere ____ buttermilk in the cooler?

1. little

2. much

3. any

4, few

Correct Answer :-
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25) Choose the passive voice of the sentence.
Shut the door.

1. The door is to be shutted.
2. The door is shut.
3. Let the door should be shutted.

4. Let the door be shut.

Correct Answer :-

e Let the door be shut.

26) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera Dolasia

Question: According to the passage, for how long had the study on the animal been conducted?
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1. Not mentioned in the passage
2. 3 years
3. 30 years

4. 20 years

Correct Answer :-

27) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera Dolasia

Question: How did the team study and know more about the rodents?
1. The volunteers wore different shirts when they appeared before them

2. They hid inside the prairie dog villages and recorded the sounds
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3. The scientist played back some of the recorded sounds

4. They placed secret cameras at strategic points

Correct Answer :-

* They hid inside the prairie dog villages and recorded the sounds

28) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera
Dolasia

Question: In the passage, the writer say that these animals were “dubbed dogs” because they:
1. lived in the prairie dog villages

2. barked like a dog

3. were as intelligent as dogs

4. looked like canines
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Correct Answer :-

» barked like a dog

29) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera
Dolasia

Question: A suitable title for the passage could be:
1. The secret language of Prairie Dogs

2. Vocabulary building by animals

3. The great story of the Gunnison Prairie Dog

4. Professor Con Slobodchikoff’s research

Correct Answer :-

» The secret language of Prairie Dogs
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30) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera
Dolasia

Question: Which one of the following statements is TRUE according to the passage?
1. The language of the rodents were not as complex as those of dolphins or whales

2. In his study, the scientist identified more than 100 vocabulary

3. Prairie dogs are land squirrels belonging to the rodent family

4. The Gunnison are found everywhere, except in North America

Correct Answer :-
* Prairie dogs are land squirrels belonging to the rodent family

Topic:- General Knowledge
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1) 1f 5t of the month falls 4 days after Sunday, then what will be the day on
the 16" of that month?/ Al AgR F15ai fRAMaR F 4 R FIg T g, NST TR S
16 3 A P I1feT g

1. Wednesday/ dYdR
2. Sunday/ IfdaR

3. Friday/ [shdR
4. Monday/ 9HdR

Correct Answer :-

« Monday/ AR

2) Suresh is 7 ranks ahead of Ashok in the class of 39 students. If Ashok’s
rank is 17" from the last, then what is Suresh’s rank from the start?/ 39

faamaiaY &t ve e &, =T, RNF A 7 U8 M 81 A e w1 g, My A 174i g, @
IR BT UG 3T A FT N2

1. 23t / 234
2. 16t/ 16ai
3.24th / 243t
4.12th 7 124

Correct Answer :-

. 16th/ 16af

3) In the following question, select the related letter/word/number from the

%ggn alternatives./ fA=faf@d ywa ¥ feu e faeenl A @ wafRe iR/ Aen ot
|

LMN: VWX :: BCD:?
1. FHG
2. GFH
3. FGH

4. HFG

Correct Answer :-

. FGH
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4) In the following question, select the related letter/word/number from the

given alternatives./ fAAfRad U= # fou e fawel d A iR sieR/r=ASn &

g

ARCHITECT: BUILDING:: SCULPTOR:?/ GRg®R:SHRA :: YfdHR:?
1. Chisel/ &t

2. Statue/ faHr

3. Stone/ U&R

4. Museum/ UG

Correct Answer :-

. Statue/ Ufa#r

5) In the given diagram the rectangle represents males, the circle represents
actors and the triangle singers. Which numbered area represents male

singers?/ fU 1T 3 ® maa geul &1 wfafAfica svar 8, g9 sifmars ok ys mast

&1 ufaffiIea #a1 8 | ST HHifpd & U T &1 ufaf-fiea #ar 8-2

1.3
2.5
3.8
4.6

Correct Answer :-

e 3

6) DIRECTIONS: Which of the following can replace the question mark?/

= g & A Fa, vy e &yl s Ieare ?

CD-12, LB-24, BP-32, NE-?

1. 45
2.75
3.95

4.70
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Correct Answer :-

7) Select the correct combination of mathematical signs to replace * signs

and to balance the given equation:/* ﬁﬁﬁmﬁ%ﬁﬂz sﬁvﬁwzwmﬂwﬁ
Hgferd s34 & fore nfrdta dddl &1 a8t S g9

8*6*96*2=0
1.- X +

2. X = —

3. X - +

4, + - X

Correct Answer :-

e X — +

8) Which one will replace the question mark (?)?/ﬁﬂ?ﬁﬁﬁqmﬁlﬂﬁ (?) Ca|

ufaqUTd Hem?

2 3 5 1 4 6 3 7 8
1.4

2.11

3.5

4.6

Correct Answer :-

9) Snake, reptile and rat can be represented by:/ ﬁ'q, Wﬂﬁ&m@ﬁ

=TT I JhdT 8:

Q30
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OO0

Correct Answer :-

3.
4.

10) Anil is taller than Sunny who is shorter than Baby. Anil is taller than Bose
who is shorter than Sunny. Baby is shorter than Anil. Who is the shortest?/

3fel, I A T e, S det A Sler 2| e, ATV dar e, St g A Blergl 9, faa A
BICI g1 T8 BT B 82

1. Sunny/ I+t
2. Baby/ §at
3. Anil/ 3ffd
4. Bose/ dI9

Correct Answer :-

. Bose/ 919

11) How many major seasons are there in Madhya Pradesh?/ H¥] D%QT ¥ faqa uqy |

Fd 7
1.3
2.4
3.2

4.5

Correct Answer :-
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How many districts of Madhya Pradesh were there in 1956 after the Reorganisation of

States was done?/ 1956 ® YTl & [T& & dI¢ A YT | fha- fora 42

1. 43

2. 41

3. 44

4.42

Correct Answer :-

* 43

13) Simhastha is held in Ujjain after every Years./ Rig® 399 4 yd® CLi

& 91¢ iford far sirar g1

1.7

2.10

3.12

4.5

Correct Answer :-

e 12

14) The Sanchi Stupa was initially and originally a low structure made of —/ it LA

TRF® U A 3R @ 4 3 ¥ fAfta T Bter = Ul
1. Stones/ &R

2. Sandstone/ dI31T URIR
3. Clay and mud/ ﬁlﬁﬁ@ 3R 7 &@‘T

4, Bricks/ é%

Correct Answer :-

e Bricks/ é%

15) The Diwari in the Baredi dance is actually — / a4t o ¥ laR} aread § &1 82

1. The poetry before the performance/ PG I Cljf Pl Hiddr
2. The poetry after the performance/ YSIH ¥ YT &1 Hiddl
3. The jewelry worn by the performers/ il GRT U ¢ SN

4. The dress worn by the performers/ ERIER IR q53| T d3d
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Correct Answer :-

« The poetry before the performance/ PLREE qﬁﬁ Piadm

16) The folk-lore of Dhola Maru also sang in parts of Madhya Pradesh is originally from —/

AT HR' Sl B AU P $S &7 A T SIdT @ adfae +9 A 5 39 &1 dipiid 82
1. Maharashtra/ HeIRTY
2. Uttar Pradesh/ 3R Uc®T

3. Gujarat/ T[oIRTd
4. Rajasthan/ JSTRTq

Correct Answer :-

« Rajasthan/ TSR

17) The area of Madhya Pradesh covers about of the country’s area./ S &
BT T HIT A UG & SF%d | M 5

1.9.8%
2.9.9%
3.9.5%

4.9.0%

Correct Answer :-
¢ 95%

18) The inscriptions of the Bandhavgarh Fort is in the language of —IETWE%%
Rremara frg uTar A 32

1. Pali/ OTal

2. Prakrit/ YT d

3. Sanskrit/ T¥pd
4. Braj/ sIol

Correct Answer :-

« Sanskrit/ I¥Hd

19) Towards which direction does the Central Highlands slope?/ ITsd & HE T(»"I@'o)f Eﬂ'ﬁﬁ
3t ga fra fa=m # 8iR gidt 82

1. South/ T
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2. East/ Uj

3. West/ Uf&H

4. North/ 3R

Correct Answer :-

¢ North/ 3R

GET IT ON
Google Play

20) The recently launched e-RaKAM portal is related to the welfare of — / §Icl g’f i | ‘{I'I-IW"H

P TS SIPH UIdd 5T &7 & Heurvr A Hafird 82
1. Mining Industry/ &= S&RT
2. Students/ S

3. Income — Taxpayers/ 3 — haldl
4. Farmers/ fooam

Correct Answer :-

« Farmers/ f&amM

21) In whose court was Tansen a musician of?/ fra® Il-g¥dR ¥ a9 IfdeR 92

1. Humayun/ §H1g,
2. Shah Jahan/ RTSIg!

3. Jehangir/ STEITTR

4, Akbar/ Shd

Correct Answer :-

e Akbar/ Hhda

22) In which year did Babur establish the Mughal rule in India?/ {3 a9 & areR 3 YRa #

T 3 =T fosar 412

1. 1527

2. 1529

3. 1528

4. 1526

Correct Answer :-

» 1526
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GET IT ON
Google Play

23) In which year was the Sahitya Parishad established in Madhya Pradesh?/ AU H

Tifeca uivug &1 fora au & wifia far T ur?

1. 1952

2. 1955

3. 1954

4. 1953

Correct Answer :-

» 1954

24) In which year was Kanha constituted into a National Park?/ forg ad o PTET Bl TI'@'C[

I & =9 A fsd fmar mar 412

1. 1957

2. 1955

3. 1956

4. 1954

Correct Answer :-

« 1955

25) Which of the following initiatives is related to enriching forested areas with medicinal

plants?/ BRIt Ugd SNuthy Mef & 1Y 99 &= Bl TYx B3 I THiUd g2
1. High Tech Plantation Scheme/ 8T8 ¢ WTCR Ao

2. Lok Vaniki Mission/ald dTfAdb1 f=r

3. People’s Protected Areas/ ST-dTal ARf&rd &

4. NWFP Scheme/ TTS&gUHY! IS

Correct Answer :-

« People’s Protected Areas/ SiHdTq] TRf&d &

26) Which of the following districts fall under the category of densely forested districts of

the state?/ fFrafead forat & @ $19- 91 forar o= a9-3maror ara foret 31 it & 3mar &2

1. Morena/ Eﬁ:ﬂ

2. Sidhi/ teft

3. Gwalior/ T@TfeRIR
4. Nimar/ ﬁ'ﬁﬂg
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Correct Answer :-

« Sidhi/ dteft

GET IT ON
Google Play

27) Which of the following folk-dances of Madhya Pradesh is initiated by a lone woman

locally called ‘Jhela’?/ TSR & 7 -l W | HIF- AT RIFG TR W FAT Fegaq

arelt Srdpet Afgan gRT Y= foaT wirar 872
1. Matki/ 7ed!

2. Badhai/ §gT5
3. Gangaur/ TTURTR

4. Rai/ 8

Correct Answer :-

« Matki/ Ae®H!

28) Which of the following folk-dances has a special significance to unmarried girls of that

region?lﬁ?ﬁl’@ﬂ%-ﬂ?ﬁﬁﬁﬁ?—ﬂﬂﬂmm%mmmm%?

1. Ahirai/ 3ffgTS
2. Gangaur/ TTORTR
3. Naurata/:ﬁTR'lT

4. Rai/ T8

Correct Answer :-

« Naurata/ :?ITIHT

29) Where is the annual dance festival ‘Lokranjan’ held?/ aTfi® oI TURIE ‘AHLoTT BBl

AT giaT 37

1. Sanchi/ 9=t

2. Bhopal/ T

3. Ujjain/ IS

4. Khajuraho/‘@w

Correct Answer :-

« Khajuraho/ ‘@Tg”ﬂ_fﬁ

30) Where is the Mamleshwar Temple situated?/ ATHAYR HfeR Hgi R 82
1. Ujjain/ I
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2. Khajuraho/ EIT{LTI'E?[

3. Ratlam/ ¥ddmTH

4. Omkareshwar/ 3iBRYT

Correct Answer :-

« Omkareshwar/ 3BRYT

GET IT ON
Google Play

31) What is the time for sowing Rabi crops in India?/ YRd ¥ & GOl &1 gaTs BT THT T

g2

1. September-October/ RideR- 3fadga’
2. January — February/ SaR]- TRaR]

3. November — December/ FdaR- fdHsR
4. February — March/ HRasl- A

Correct Answer :-

« September-October/ RIdeR- SfegaR

32) Which clan of Rajputs did Raja Bhoj belong to?/ XTSIl ﬂ-ﬁﬁ?ﬁ'ﬂjﬁ%ﬂﬁ?- Jaud
gt 372

1. Parmara/ URHR
2. Chandela/ Elé?f

3. Bhumihar/ H&IB'IT
4. Ganwaria/ TaTIaT

Correct Answer :-

« Parmara/ GvHR

33) Who launched the newspaper ‘Kesari’?/ JHHAR UA B B R[> 3T o ot dfi?

1. Lala Lajpat Rai/ ¢Tdl <IIsidd 1T

2. Bal Gangadhar Tilak/ Td TTTeR faeie

3. Aurobindo Ghosh/ 3Rfda! 91y

4. Gopal Krishna Gokhale/ TNOTd $HT TR

Correct Answer :-

« Bal Gangadhar Tilak/ §Td TMeR fdeid
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34) Which city of Madhya Pradesh will have India’s biggest Global Skill Park?/ AU &
PIH-A R A YR BT 99 g1 Ay Hizra I (alad f&pa urd) fAfdfa g2

1. Jabalpur/ SIdcelYR
2. Bhopal/ HraTd

3. Indore/ AR
4. Gwalior/ TTeRR

Correct Answer :-

« Bhopal/ HraTd

35) On which river’s banks was Harappa situated?/ gSWI &g 7-|T:ﬁ & fHar wR AT U172
1. Luni/ S

2. Bhogava/ HRTTar

3. Indus/ ﬁi‘ﬁ

4. Ravi/ X1fd

Correct Answer :-

« Ravi/ Tfd

36) If ‘"MADAGASCAR' can be written as '4727879670', then 'MADRAS' can be
written as:/ 9f¢ '"MADAGASCAR’ &1'4727879670' for@l @i 8, 99 'MADRAS' &1
T foraT SIrRm?

1. 472490
2.472079
3.427409
4. 424290
Correct Answer :-
« 472079

37) The simple interest on a certain sum at 5% per annum for 3 years and 4

years differ by Rs.42. The sum is:/fdt IRT R 5% arftfer saret Y &3 A 3 99T 3R 4 9uf
H UTe TTROT TSl H Rs.42 T 3iaR g | A1 1 B3|

1. Rs.750
2.Rs.210

3. Rs.280
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4. Rs.840

Correct Answer :-

e Rs.840

38) In a certain code ‘PLANT' is written as ‘$@2*©’ and ‘YIELD' is written as
‘#64@%'. How is ‘DELAY’ written in that code? /& fAfira e # ‘PLANT' &1
RrEd §'$@2*©’ 3R "YIELD’ & forad § ' #64@%’ | 39 % § 'DELAY’ &4 foran
STQT?

1. #4*2%
2. #4@2%
3. %4@2#

4. %42@#

Correct Answer :-

39) A and B together can do a piece of work in 5days and A alone can do it in
8 days. B alone can do the same piece of work in:/ A 3R B fi@®: faft s &1 5
a1 o % add § SR A 3hd 3T HTH &I 8 fa11 § &2 oar g, a1 B 3(bd 39 $ &i fba-t
e & s

112 111
1. 3days/ 3faA

131 131
2. 3days/ 3fad

162 162
[

3. 5 days / fa

122 122
4, Sdays/ = feA
Correct Answer :-

132 132
3days/ 3 fad

40) The difference between the interior and exterior angles at a vertex of a
regular polygon is 150°. The number of sides of the polygon is: /WH@"HW%
TN TUT ITET IV BT 3R 150° B | TEYS DI YSAT3M Pt WS J1d B |

1.24
2. 10

3.15
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4. 30

Correct Answer :-

e 24

41) A car goes 10 meters in a second. Find its speed in km/hour./T& $RR 1 AFs
H 10 Hiex B gt a9 X § 1| FR D1 fd et/ o gra w8

1. 48
2. 40
3.36

4.32

Correct Answer :-

42) Simplify:/3Id B

1

2
1+ —=o

2+—
1+%

1+

43) Simplify: /I3 B

2
3

1+——

1+

1+

=2
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=J|

LA =~

W | =]

4,

Correct Answer :-

7

o« 4

44) The average salary of all staff of a school is Rs.10,000. The average salary
of 20 teaching staff is Rs.12,000 and that of non-teaching staff is Rs.5000, the

number of non- teaching staff is:/mﬁamﬁwmmhﬁaﬁaﬁwm
Rs.10,000 &1 20 3UTYh] B 3T 3T Rs.12,000 dUT 3T S AATIP 81 §, BT 3T M4
Rs.5000 3| 37 SHATRY] B H&AT JTd BV, S ATYD 81 &1

1.7
2. 12
3.10

4.8

Correct Answer :-

45) If in a code language RUSTUM is written as INWANZ and RASTOGI is
written as IXWAVJK, how would RUSSIA be written in that code?/ afg f&=it
f1f3ra e uTaT ¥ RUSTUM &1 INWANZ fam 5imar @ 3k RASTOGI &t IXWAVIK feran
ST @ o1 331 e HTUT § RUSSIA &I frg yaR ford™ 2

1. INWWKX
2. INNWKT
3. INNWNX

4. INNWKJ

Correct Answer :-

« INWWKX
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By selling a plot of land for Rs.45,000 a person loses 10%. At what price should
he sell it to gain 15%?/ Rs.45,000 § T® YEUS 99 W TP AT Bl 10% T IS Sl
g, dt 15% TTH HHM & Y Yvs & fha Tud A S 9id?

1. Rs.60,000
2. Rs.57,500
3. Rs.55,000

4. Rs.50,000

Correct Answer :-

e Rs.57,500

47) The sum and product of two numbers are 12 and 35 respectively. What
will be the sum of their reciprocals? /gl GBT3 T AT TUT UG HHRT: 12 TUT 35
?, 37 gepHI BT UNT T G2

12
1. 35

39
2 12

w
LA =k

i | =k

4.

Correct Answer :-

E
o 35

48) The sum of three numbers is 98. If the ratio of the first to the second is 2:
3 and that of the second to the third is 5 : 8, then the second number is:/dH

T=T3Y BT AN 98 31 Tf Ugelt SR g WWAT 2 : 3 F IgUTd A § SR gt iR it Sem 1
ST 5 : 8 8, T GO T T B9

1. 48
2.20
3.49

4. 30

Correct Answer :-

« 30
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49) A can do a piece of work in 15 days and B in 20 days. If they together work
on it for 4 days, then the fraction of the work that is left is: /A T® &TH &1 15 {1
W qur B, 20 3= A H3 Tar 8| Tl 3 v 1Y 4 fo 9 FrH FA T A AT FH 8-

1
1.4

N
Gl ~

4,10

50) A train is moving at a speed of 132 kmph. If the length of the train is 110
meters, how long will it take to cross a railway %Iatform 165 meters long?/

T 110 Hiex ddt Yt < 132 fpwi/eer ot 1fa | 7 381 31 36 TP 165 Hiew @d @ &l UR
&Y | fhar gva anm?

1.7.5 seconds/7.5 9 e
2. 15 seconds/15 Y8

3.5 second/ 5 Yde

4. 10 seconds/ 10 Y

Correct Answer :-
. 7.5 seconds/7.5 9 S

51) A train 800 meters long is running at the speed of 78 kmph. If it crosses
a tunnel in 1 minutes, then the length of the tunnel (in meter) is:/ Wsootﬂw
wat oSt 78 fHl/eer B fa | Terd T Uh R o1 1 e # uR w5 At 81 9a18T 39 IR
ot darg (diex #) fra-ii 82

1. 1500
2.77200
3. 500

4.13

Correct Answer :-
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52) A sum becomes Rs.1,352 in 2 years at 4% per annum compound interest.
The sum is:/ s YRR 4% TP Thgfes saTel B ST T 2 6T A Rs.1,352 Y ST &, Y &4
AR B:

1. Rs.1,270
2. Rs.1,245
3. Rs.1,250

4. Rs.1,225

Correct Answer :-

53) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./fc3r: 19 3T ¢ vz A $© $Y iR 39F
1 39 fspd fr 1T &1 3mu! fT T HY= &) I AT @ Y €1 3 wdwra a3 e
Udid gid g1 9+t et 1 ufeu fibr au Fifeme f& fau v faseul & ¥ Hi9-a1 fasey faw e
FY BT TGN TU I IRV BT 3, TTe Ta7d a2 $o W g

Statements:/PY:

Some papers are dogs./ O PN, ﬁ%l

Some dogs are windows./ $9 o, f&sfear g1

All windows are trees./ 94 @Sﬁﬂﬁ, ag%l
Conclusions:/ﬁ'ﬁﬂf:

I. Some windows are papers./ Wﬁ?@}ﬁ?ﬁ, W\_:I%'I

I1I. Some papers are trees./ PO PV, ﬁ%’%l

1. Either Conclusion I or II follows/ I fsHTS I IT 11 S{I¥R0I HRll ©
2. Neither Conclusion I nor II foIIows/:rﬁ&iﬂfI qJII WUTW%
3. Only Conclusion 1 foIIows/WﬁEb'EfI &WW%

4, Only Conclusion II follows/ drad fshY 11 &WW%

Correct Answer :-

« Neither Conclusion I nor II follows/ = fSH8 I 7 IT 3{I¥RUI HRll §


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

54) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%ﬂ: T-ﬁ%ﬁ'ETI'EWffWEW 3R IqH
a1¢ 0 fwd far 1T § 1 MU AT T =) &) I AT € Ha 8 Tdya 9 | e
wofta g1 8 | 9t frseut ) ufew fib o Fifore % faw e freeut & @ w91 e few e
FYAI BT AHUINT $U I SRV BT 2, TTe Fd7Td a2 $2 M 8|

Statements: /P Y-:

No book is pen./ @3 J&a®, U= 781 g1

Some pens are men./ $S UH, 3ATGH §1
Conclusions:/ﬁwﬂf:

I. Some men are books./ wanmﬂ, gﬁﬁ?%l

I1. No man is book./ aﬁéanz.'d’r, WT{?[%I

II1. All men are pens./ It &Iﬁ'lﬂ, ﬁ?%'l

1. None of these/%‘—lﬁ@fﬁ'sc?ﬁ

2. Only I follows/dd I 3IIRUI HRT &

3. Only either I or II foIIows/WEITI g 11 SFETUTW%

4. Only III follows/dad 111 90T BT &

Correct Answer :-

« Only either I or II follows/dad T I AT 11 &@TUTW%

55) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi’ﬂ: ﬁ%ﬁqwmﬁwww 3R IqH
q1¢ 9 fAwd far 7T § 1 3wt AT T Syl &1 I WA € Ha 8 3 gdya g | e
wofta gia 8 | 9t Frsput @) ufew fir aa sifore % faw e et & @ e e feg e
FYFI BT TS U A TV BT 8, e FAd a2 $ o &l

Statements:/ $YH:

All Stems are flowers./ Tt a?r, W%I
Some flowers are trees./ $© §d, TS B
Some trees are leaves./ Wﬁts’, Uﬁl’iﬁ'?l
All leaves are plants./ W‘lﬂqﬁ-l'ﬁ, tﬁﬁ%'l
Conclusions:/ farsp:
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I. Some stems are trees./ waﬁﬁs%l

I1I. Some flowers are plants./ $9 d, LI

III1. No flower is plants./ Hﬁ'sfqg_cf, tﬁ‘ﬁﬂﬂﬁ%l

1. Only I and II follows/ %ad I 3R 1T 3IR0I 63 &

2. Only I follows/ %dd I 3IR0I Hdl &

3. Only either II or III foIIows/WIITII grI11 WW%

4. Only 111 follows/ ad I11 3fIERUI Fal §

Correct Answer :-
e Only either II or III folIows/%F[?IlTII gr 111 &WUTW%

56) The HCF of two numbers is 15 and their LCM is 300. If one of the number is
60, the other is: /<! TBAT3M BT H.H. dUT .. HHIT: 15 9UT 300 ¢ | TS TP JEAT 60 &, 1
SO AT T B |

1. 100

2.75

3. 50

4. 65

Correct Answer :-

57) A alone can do a piece of work in 6 days and B alone is 8 days, A and B
undertook to do it for Rs.3200. With the help of C they completed the work in 3
days. How much is to be paid to C?/A f&d &1 &1 3rbd 6 RN A PTIPaTg 3R B
3P I HRE B 8 AT A HRAHATR 1 A 3R B A Rs.3200 H H7d Ft gt ot ok c Ft veg
¥ 35 o1 B 3 &7 o @ & faun,at oo A o ¢ &1 iR fa=n ghme

1. Rs.400
2. Rs.600
3. Rs.375

4. Rs.800

Correct Answer :-

* Rs.400
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There are Rs.225 consisting of Rs.1, 50 paise and 25 paise coins. The ratio of their
numbers in that order is 8: 5: 3 respectively. The number of one-rupee coins is:/

Rs.225 ®1 T Y-IRTRT § S Rs.1, 50 T 3R 25 A1 & Rygwl & ¥ 31 afe Ryaw! ot T s :
5:3 % 3JUTd § B, It U BUd & fyaep! ) w=m J1d S|

1. 80
2. 160
3. 112

4.172

Correct Answer :-

* 160

59) The milk and water in a mixture are in the ratio of 7: 5. When 15 litres of
water are added to it, the ratio of milk and water in the new mixture
becomes 7: 8. The total quantity of water in the new mixture is:/Wﬁf&l‘UTﬁ'g%r
IR Ui T SUT 7 : 581 519 3 15 Ste” Ui firamar Siran 8,91 ¢ fryor § g oiv urit &7
3T 7 : 8 Y SITaT 1 7T firsror ¥ Ui 3 et W aarsel

1. 60 litres/ 60 qieY
2. 96 litres/ 96 dleR
3. 40 litres/40 e

4. 35 litres/35 qex

Correct Answer :-

« 40 litres/40 qlex

60) Three years ago, the average age of a family of 5 members was 17 years.
A baby having been born and the average age of the family is the same as
three years ago. The present age of the baby (in years) is:/ ?ﬂ?ﬁﬁ%’ﬁ, 5 el
1 URAR Ft 3a 31 17 a9 B 1 TP g2 &1 &+ giaT 7, Fbv ot uar &t adur sia emyg 3
¥ Ugd F} 3d g F THE B1 92 B adaE Iy @ F) 3 B

1.2
2. 1.5
3.24

4.3

Correct Answer :-
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Which of the following fraction is the smallest?/fET =T § B It Iad SidY %?

61

Nt

¥

=1l en

4
.15.1

[« R L
o= =l en O =

WO =

4.5

Correct Answer :-

62) The cost price of 24 apples is the same as the selling price of 18 apples. The percentage of gain

is:/24 TSN BT HY Y, 18 Va1 P fAhT Tod & RIS &, A Wla=rd a1 J1d 9

1. 25%

331W
2. 37

221%
3,727

4. 20%
Correct Answer :-

331':';’H
37

63) Choose the odd pair of numeral./ TBI13fl & fauq g9 &I e
1.36 : 6
2.15: 3
3.32: 4

4,42 : 4

Correct Answer :-

e 42 : 4
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64) Anu and Bharti invested Rs.20,000 and Rs.24,000 respectively in a business.
Bharti left the business with his money after 8 months. At the end of the first
year they earned a profit of Rs.1,620. What is the share of Anu in the profit? /3
MR UR fHd SATUR A HHW: Rs.20,000 3R Rs.24,000 A7 H<l € | URI 8 HEH &
TG 3T A ABT AR BIS TN B| Ugd T F oid § A ATY Rs. 1620 7| 3 T ATH

e = grm?

1. Rs.1,250

e

7

2. Rs.720

3.Rs.1100

4. Rs.900

Correct Answer :-

» Rs.900

GET IT ON
Google Play

65) Inert gases are?/ 3if%d 19 g &2

1. Physically inactive/ Wifde U T sifhasita

2. Not stable/ 3Tt

3. Chemically very active/ WW@[E@HW
4. Chemically unreactive/ WIS ® U ¥ ffhariia

Correct Answer :-

« Chemically unreactive/ JUAM® 0 ¥ 3ifchariid

66) Two positions of a dice are shown below. When number ‘one’ is on the

top, what number will be at the bottom?/ T& UI¥ &1 I fufadl & i fazamar mar

21 o9 O 've’ S W g, a9 i o 9= swri?

1.4

2.5

3. Can’t be determined/3Td To! foodT ST Aabdl

4.6

Correct Answer :-

5
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67) The metal first used by man on earth was?/ & Ugall Tg &9 W € &t ua A
SUIRT &Y A2

1. Aluminium/ TegfafAay
2. Gold/ wauf

3. Iron/ &gl

4, Copper/ didl

Correct Answer :-

« Copper/ didl

68) When a wave goes from one place to another, it transports?/ 9d T a3l

TP I I O RIME Bt 3R fd Bl § of a5 foraet 951 ol &
1. Energy/ el

2. Nothing/@‘lﬁ

3. Mass/ &4

4. Matter/ tIETQf

Correct Answer :-

« Energy/ Sl

69) Diamond is made of the same single element as?/ RIS T®H SFA T
frer: 391 31 8 3w SR R ST glaT |

1. Chloroform/ FARIGIH

2. Common salt/ dIURU THH
3. Sugar/ R

4. Graphite/ atﬁlg_c’

Correct Answer :-

« Graphite/ AwT3C

70) From the given alternative words, select the word which can be formed
using the letters of the given word./afifaa fawe @ 9 a8 3reg gfa ot feg 1w
g P 3&RT BT TGN HTb TTAT ST Febell -

SOMNAMBULISM
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1. NAMES
2. BASAL
3. BIOME
4. SOUL

Correct Answer :-

« SOUL

71) Excessive consumption of alcoholic drinks causes damage to the?/ dgd

3T AT § Uepigd BT A B I DT 301 W gl IParg?
1. Lungs/beb%_
2. Kidney/ qa

3. Liver/ Ihd
4, Heart/ gad

Correct Answer :-

« Liver/ d&d

72) DIRECTIONS: Study the following information and answer the questions

given: /e & 7 SR F wFYd® v 3R i AT Tyl & IwR S

P, Q, R, S, T and U are sitting along the circle facing the centre./ P, Q, R, S, T

3R U T 9 § $g B iR §&@ B3P 98 ¢

(i) P is immediate neighbour of Q who is second to the right of R./ P, Q &I

FPead USRIl 8 oIl $T R & g A g M W B

(ii) Sissecond to the leftof T./ S, T %aﬁﬁgﬂ%mw%l
(iii) U is immediate neighbourof T./ U, T Wﬁﬁ‘dﬁﬁ?ﬁ%l
What is the position of U?/ U &I fRufa war 82

1. Between Tand R/ T ARR B AT

2. Second to the right of R/ R & G0 ¥ &Rl

3. Immediate right of Q/ Q & Adcar g

4. To the immediate right of S/ S & Fdpeaq e

Correct Answer :-

« To the immediate right of S/ S & Adpean e
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73) DIRECTIONS: Arrange the following in a logical order:/ fAd31: A @l ts
3rfyut wr o afRE He |

1. Butterfly/ IGGRI
2. Cocoon/ ﬁ?‘v{
3. Egg / 3iST

4. Worm/ Hﬂ?ﬂ
1.1,4,3,2
2.3,4,2,1
3.2,4,1, 3
4.1,3,4,2

Correct Answer :-

74) The fundamental role of root hairs in plants is?/ T@ ¥ &1 &I &4 UGy

T 5
1. To protect the root from soil microbes/ @ﬁ%ﬁﬁﬁﬁﬁﬁﬁﬁ%%ﬁ

2. To protect the young root from damage by coarse soil particles/ &g Hal ®Ull § 94t
SIS &l TRIE g4 I 991 & fau

3. To absorb water and mineral salts from the soil/ a@@rma@ﬁﬁrwaﬁ&m@ﬁa
&R o ferg

4. To bind soil particles to the root for firm fixation of the plant/ G@@W%Waﬁﬁ‘a
TG UTEY Pl Teh VI WR TST 6 b [eg

Correct Answer :-

« To absorb water and mineral salts from the soil/ TSI ¥ Sd d Wi-Isl 90T B AN
CRECARIY

75) The material used for a fuse wire should have?/ W aR for ugrd &1 591

gl § SaA?

1. High resistivity/ I HRIY

2. High melting point/ 3= TTaHid fawg
3. Low melting point/ & e favg

4. High ductility/ 3= d-ddTl

Correct Answer :-
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« Low melting point/ fH TeHi® fag

76) Two taxies start from the opposite points of a main road, 150 kms apart.
The first taxi runs for 25 kms and takes a right turn and then runs for 15
kms. It then turns left and runs for another 25 kms and again after taking a
left turn it reaches to main road. In the meantime, due to a minor
breakdown, the other taxi has run only 35 kms along the main road. What
would be the distance between the two taxies at this point?./Eﬁ ?ﬂ'\‘ﬁ, 150
.. 91 g8 R ve g G5 & o fqudia fagaii & aa=m Ry $=edt §1 uget SRt 25 f .
TaAd! 8 3R gT¢ gaeit g 3R fh 15 .. Tard! 81 98 fe a¢ gedi @ ok 25 fr. it gorcdi @
3R R a1 g & 91 YT TSP WR Ugad! ¢ | S a1 U 31e7 YT & BT o] et
TSI TSP A bad 35 .. gadl 81 339 fag R a1 Rt & nen &Y gt ghft?

1. 75 kms/75 T,
2. 85 kms/85 for A,
3. 80 kms/80 fob 4.
4.65 kms/65 T H.

Correct Answer :-

. 65 kms/65 fob ..

77) Cinnabar is an ore of?/ RFTR fPa®T 3R a1 82
1. Iron/ FﬁET

2. Lead/ g

3. Mercury/ URT

4. Copper/ didl

Correct Answer :-

e Mercury/ URT

78) A is the father of B, C is the daughter of B, D is the brother of B, E is the
son of A. What is the relationship between C and E?/ A, B a?fﬁ?n%', C, B ﬁg‘:ﬁ
2, D,BHTURT, E, ABTYIE | C 3R E & Tty 1 9=l 82

1. Uncle and aunt/dT=l 3R Tt

2. Brother and sister/HTs 3R 584
3. Niece and uncle/Hadtst 3R T
4. Cousins/Eb‘%F[

Correct Answer :-
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« Niece and uncIe/'J-I'cﬁ\_:ﬁ 3R T

79) Dialysis is used for patients having?/ 308 (STSARY) &1 U frg Wi &
fere faran imar &

1. Lung trouble/ sl | I are

2. Kidney trouble/ qwﬁwmﬁ
3. Heart failure/ EE'CIT‘EIHEH@I

4. Liver diseases/ Wﬁﬁﬂ?ﬂﬁ

Correct Answer :-
« Kidney trouble/ Wﬁwmﬁ

80) Which country is called the "sugar bowl" of the world?/ fadA I eIy
fay &1 A+t &1 FeRT” FrAETS:

1. Cuba/ &gdT
2. Argentina/ 3fSieHT
3. USA/ 9gad T 3AR®T

4. India/ HRd

Correct Answer :-

81) The disease in which high levels of uric acid in the blood are

characteristic is?/ 99 3R gR® e 't AET S 8) |11 § T8 1A I BT AT 82
1. None of the above / IWRIdd H I B3 gl

2. Arthritis/ SISl & Yo

3. Hepatitis / %’a?lgﬁﬂ

4. Gout/ Tifear

Correct Answer :-

. Gout/ Tifear

82) Which of the following do not belong to the solar system?/ SR kan
AR AR AUSd | Hafd -Tg1 gidl:

1. Comets/ %E:Iaﬂ
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2. Asteroids/ &% Uz

3. Planets/ U@

4, Nebulae/ ﬁ_@ljﬂ

Correct Answer :-

« Nebulae/ ﬁajﬂ

83) Which of the following spices is obtained from roots?/ 9 & 91 AU 5T A

UT T giaT 8?
1. None of the above/ SWRIGd H I Ob\l‘g:%’f

2. Cinnamon/ & SEIRI
3. Clove/ @I

4. Turmeric/ geal

Correct Answer :-

« None of the above/ SRIGd H I or;lé‘ﬂ%cf

84) Fernandel and Arletty starts from their office and walk in opposite
direction each travelling 10 km. Fernandel then turns left and walks 10 km.
Arletty turns right and walks 10 km. How far are they now from each

other?/WHA~sd 3R TAY! 3 SUR A T Y[ Hd 8 3R faudia fezm & vdw 10 feh
Tdd &1 e d fibe 914 gt 8 3R 10 5 =erdt 31 wRadt g1 gsdi @ 3R 10 frdt Tt
21951 Tw g 3 fraii gt R 32

1. 20 km/ 20 fout
2.5 km/ 5 farit
3.10 km/ 10 foet
4.8 km/ 8 fobuit

Correct Answer :-

« 20 km/ 20 f&Ht

85) The gland that contains the body’s thermostat is?/ A9 & ¥ &1 I Ufy ;R’R
o a1y &) FFafa $39 &1 o1l Fdt @

1. Pineal/ fufaa gy

2. Thyroid/ YIgRIgS
3. Hypothalamus/ HELIREER]
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4. Pituitary/ Yigu 4y

Correct Answer :-

« Hypothalamus/ TRUREH

86) A person weighs more in a lift which is?/ T® 3fad &1 HR forge # siftre gim
gfe forwe?

1. Moving down with a constant velocity/ JUE T I A WQ@T%

2. Moving up with a constant velocity/ JHH T HW S E &
3. Accelerating downward/ J1e RO Y 3 &) §

4. Accelerating upward/ @RUI % 1Y FUR 136! &

Correct Answer :-

« Accelerating upward/ @RUI % I FUR 136! &

87) We lose consciousness if blood flow to the brain is cut off for more

than?/ R} Ia1 WA g1 et afe Afkres &t fora wwa ae v = el
1.5 sec/ 59Hs

2. 15 to 20 min/ 159 20 e

3.5 min/ 5 e

4.0.2 sec/ 0.2 ¥bs

Correct Answer :-

. 5sec/ 595

88) An apparatus used for locating submerged objects is known as?/@g‘a

Terdl & e & foY S | T ST IUUNT fhar oIrar 3:
1. Pulsar/ U&RR

2. Quasar/ dRIR

3. Sonar/ IR

4. Radar/ Y8R

Correct Answer :-

« Sonar/ MR
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89) A thermostat is a device for?/ YATRE U~ T BT BT 8
1. Switching off an electrical appliance/ ﬁugaﬁwﬁaﬁaam%
2. Regulating temperature/ Ao &1 FRif3d &R &

3. Producing heat/ &A1 & fAATO 63T &

4. Measuring temperature/ ATgHT &1 ATIAT §

Correct Answer :-

« Regulating temperature/ aIA &I FRIfd Har g

90) The substance that causes the maximum air pollution is?/ ek kank:|

yerd arg wgwor & fire watfie Swardt g &2
1. Smoke/ Yd

2. Carbon monoxide/ GARE| ﬁaTqﬁlss

3. Sulphur dioxide/ TeHR SBAHES
4. Nitrogen dioxide/ sij NG| S'EG{THGTE’S'

Correct Answer :-

« Sulphur dioxide/ TehR SRIHRISS

91) How many triangles are there in the following figure?/ %= 3n&fa & fra=
Ay=g?

2.13
3.7

4.9

Correct Answer :-

92) The smallest known prokaryotic organism is:/ 99 BieT MeRafes st Hi9
arg?
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1. Bacteria/SiidT]
2. Microcystis/ HIZHIfhReT
3. Chlorella/ el

4. Mycoplasma/ ATSHIITSHT
Correct Answer :-

» Mycoplasma/ IS HITITSHT

93) The dry fruit chilgoza is obtained from?/ U g1 Bd RIS frasd U gar

&
1. Cyprus/ IIgud
2. Deodar/ G3MGR
3. Cycas/ iy

4. Pine/Uigd

Correct Answer :-

94) Organisms which have similar external appearance with reference to a

particular character are called?/ d Siig oY 91831 @i&oN ¥ U A @ 3d & 3= &1
ST AT §

1. Phenocopies/ ICB AR
2. Phenotypes/ BHIersy

3. Analogous/ TR

4. Homologous/ BHIARN

Correct Answer :-

« Phenotypes/ BHIcsd

95) Light coloured clothes are preferred in summer because?/ WT‘T%W@
Hiwr mg # yde fu i § Fife?

1. They allow body heat to escape faster/ 3 IRR Y SEAT B Aol T TR FpTeld &
2. They soak sweat faster/ a’qﬁﬁaﬁm%@lﬁ%

3. Light colours are good radiators of heat/ 8¢ 3 &M & 3 fafdR® gld §

4. Light colours are poor absorbers of heat/ WWW%@? 3T E BId &
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Correct Answer :-

« Light colours are poor absorbers of heat/ me%ﬁﬁ AT E BId &
96) The main use of mica is in?/3Y® BT YT SUTNT {7 IeHT & graT &
1. The electrical industry/ fagad I=mT

2. The steel industry/ THTd IR

3. Petroleum refining/ @W@WW

4. The glass and pottery industry/ &1 g &9 ST

Correct Answer :-

. The electrical industry/ fagad I

97) Atmospheric pressure is measured with a?/ argqsaﬁuaraﬁﬁwmmm
ST 8

1. Hygrometer/ gIRUHICR
2. Barometer/ R

3. Hydrometer/ Bléélﬂl cx
4. Altimeter/ TeciHieR

Correct Answer :-

« Barometer/ SRR

98) A number when reduced by 10% gives 27 as result. The number is:/T& IBIT od

10% TeTdt STt 3, at uf¥ony 27 3irar B, @t IS w1 |2
1. 30
2. 35
3.40

4. 33

Correct Answer :-

0.16 0.04 016 0.04
99) The value of (243) x (243) is equal to:/(243} X (243) T A fPrad RIeT %:

Wil =
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2.0.16
3. 0.04

4.3

Correct Answer :-

=
100) The diagonal of a square is 4" 2 cm. The diagonal of another square whose area is double

that of the first square is:lmﬁwﬁﬁﬂfﬂﬁﬁlﬂ%l T gax 1 31 fawul g1a &3, SRreT gawa
wyH i ¥ 7% d BT 8 [T 2|

1. Sﬁ cm/ad'E I
5. W32 cm/ 432 I
3.8cm/ 8 It

4.16 cm/16 99t

Correct Answer :-

. 8cm/ 8 IH
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